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Note :  Answers may be written either in English or in Hindi;
but the same medium should be used throughout the
paper.
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Attempt All questions. All qucétions carry equal marks.
Label figures properly
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L. How are the nominal IS and LM functions derived? How
do shifts take place in the general equilibrium?
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Using the Keynesian regressive expectations framework

derive an aggregate money demand function.
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Explain the behaviour of different types of investors

towards risk and return. Explain the ‘optimum portfolio

curve.’
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Explain Phillips curve. How does it help in deriving the
Aggregate Supply?
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Derive modified LM function. How does it affect asset
market equilibrium?
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Explain the criteria for evaluating a business cycle. How
are ‘real business cycles’ generated through technology?
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What is a macro-growth model? How does it help in

~ developing the ‘Golden Rule’ for savings?
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Explain the process of globalization. What has been its
impact?
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Critically evaluate GATT as the predecessor of WTQ. Has

WTO played its expected role?
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What was the global environment provided by WTO? How
has India responded?
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